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30,000,000 30,000
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307 giztol A 9,000 9,000 0
04 CIZ2tSHALALSE B X 9,000 9,000 0

O4-H3 WHIBXE 9,000,000 9,000

4-H sAE2d WHHWSE 6,750 7,500 AT750
307 QI2t0| ™ 6,750 7,500 AT750
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4-H3| SR EH S 0ts tal 10,000 10,000 0
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04 JIZHHZ2XNSE+ 3,101 2,834 267
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OnE:Ed 2,806,000& * 1.5% 43
OMTHE A 2,806,000& * 1.05% 30
201 L2l 80,400 62,880 17,520
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OSHsdEMds H&X As Xtg At
500,000& = 28J4 2l 14,000
OMEIMHE TEe dHaeltns e X
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100,000& * 5002 50,000
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OYU=sLYIAH 208 KA 2cldl
602,500& » 12& 7,230




AN sEIIsdE X200

B SN
el sl LS (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OYU=LINA H&E A4 7,170
Osg= 1,560& = 2,000 3,120
o&x 1,350& * 3,0004 4,050
OYU=LYIIH HotatE XA 22 (Z7)
1,350& = 500¢4 = 9OH 6,075
OZUsYIH 2ERA S84l
70,000& = 20 1,400
OYU=INA £ 2= HE =2 (IHE
Jl 2 xt) 500,000& * 123 6,000
OAWSIN N SLEE (NE2E O 0|4
) 200,000& * 750CH 150,000
206 M= Hl 305,000 255,000 50,000
01 MHZ 4l 305,000 255,000 50,000
OsgIIH SUELl +=2 155,000
o8 B3 50,000& = 3,000& 150,000
M= 7 10,000& * 500% 5,000
OsgIIH =328 237 140,000
ORE=2(E2II8E2 6005
50,000& = 2,400& 120,000
ORE2 (LA 2008)
10,000& * 2,000& 20,000
OsgJIH =3lcl 2EME 7
20,000& = 500& 10,000
401 A& HIZ 201 Y| 50,500 104,000 53,500
01 A& HI 50,500 104,000 A 53,500
Os&2 sYIAH MR SHSA
35,000,000 = 10024 35,000
OLLLZEsYUIHSE2elL A2 2€ Ex3
At 2,500,000& * 1002 2,500
OsZIAHBE 2L 2IZE EZA (2D~
24,2 6,500,000 * 2044 13,000
405 tabF S| 183,286 1,135,280 A 951,994
01 AL ESFH S 183,286 1,135,280 A 951,994
OEEsYlASe2elL dUHE sIAH 2
o 12,010
OSZ A M 4,200,000& =+ 1CH 4,200
OL=F0Is M 355,000& » 22MIE 7,810
OsSEYsYIHEE 2L AR E57Y 11,276
OdD] 7,400,000& = 1CH 7,400
O& Xtell el Xl 76,0003 ~ 104 76
(OFSIR=IDN 200,000& * 1CH 200
OzlaE Hol=2 300,000& = 204 600
oslaE oAx 150,000& * 204 3,000
OYUHE sHIAH 2 160,000




AN sEIIsdE X200

HM: =HXSIE
e gl HIE ML (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O=20/¥I(4X) 8,000,000 = 504 40,000
Osg= 4014 2,940,000€ = 2CH 5,880
OEED| (Rl atatsBt)]) 3,300,000 = 3CH 9,900
O=SEXTHI(EHHLAH)
4,400,000€ = 5CH 22,000
O=SHXHI(EHHEH)
6,600,000€ = 5CH 33,000
O=4D] 24,610,000 * 2CH 49,220
SEL S AL & A 351,280 306,576 44,704
= 135,640
Xl 40,000
Al 175,640
sYH)|ls M2Us N (2Y) 51,000 35,000 16,000
= 25,500
Al 25,500
101 e1214| 15,342 12,070 3,272
= 7,671
Al 7,671
04 J|12ZtHIZ22NEES 15,342 12,070 3,272
ORSSYISDE 2Y ALY
66,800 » 1€ % 262 * 8& 13,895
= 6,948
Al 6,947
OJIZNZ2Z2L BE2(MIEUHEEZ) 1,447
OHLBEE= 13,894,400 * 3.12% 434
=2 217
Al 217
O&IYEE = 433,506 * 7.38% 32
= 16
Al 16
O=01H= 13,894,400 * 4.5% 626
= 313
Al 313
onasgd 13,894,400 * 1.5% 209
2 104
Al 105
ONMTHEE 13,894,400 * 1.05% 146
= 73
Al 73
201 YEt2 bl 24,618 16, 130 8,488
= 12,309
Al 12,309
01 AP 2t 2] d| 24,618 16,130 8,488
ONEsAIzns 2AIETH(13) 1,180
oPlE= 230,000& = 2% * 1A|2} 460
= 230
Al 230




FA: sgllsdH XNI= D
M =HXA0=
el SEXES A (S5 &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFt 120,000& = 2H = 3A|2t 720
= 360
Al 360
OFEsIzusg 2A=E(22) 1,110
OPIE= 130,000& = 3H = 1Al2t 390
= 195
Al 195
O=FJt 80,0003 = 3H = 3AI2t 720
= 360
Al 360
ORSEYUIZDNE BUPY
10,000& * 4002 4,000
= 2,000
Al 2,000
OFSSUINEDSE B HE
70,000& = 20H 140
= 70
Al 70
ONEsLYI=zUE MNRES ¢ 27,550& 28
= 14
Al 14
OJIz=gsllsus M2 (13) 6,490
OPIE= 230,000 * 119 = 1Al 2t 2,530
= 1,265
Al 1,265
O=Ft 120,000& = 11 * 3Al2 3,960
= 1,980
Al 1,980
OJIxzdsllzus 7Y
10,000& * 980% 9,800
= 4,900
Al 4,900
OJIzg=s)lsusy 829 M
70,000& = 200H 1,400
= 700
Al 700
OJIZEs)=2zns ARES &  470,000& 470
= 235
Al 235
301 AP B A 11,040 6,800 4,240
2 5,520
Al 5,520
09 HALAHIEA S 11,040 6,800 4,240
OME=sYllzsns SAZ4L 8,0008 * 4002 3,200
= 1,600
Al 1,600
OJI=g=sJIsus =A24 8,0008 * 980 7,840
= 3,920
Al 3,920




2AM: sg€ll=
=R ESD EIE
Sel sETESAYHN EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
s oEY oM AR AYE(KH) 50,000 50,000 0
= 25,000
Al 25,000
402 2I2H X201 M 50,000 50,000 0
= 25,000
Al 25,000
02 2IZE 2 A EZ(OI XM TH ) 50,000 50,000 0
OXN=Y ¥EE G2 MY (D)
50,000,000& * 1JH A 50,000
= 25,000
Al 25,000
SsHIH M NE AL (HH) 72,000 56,000 16,000
= 36,000
Al 36,000
201 Let249H] 7,120 6,020 1,100
= 3,560
Al 3,560
01 At 22l 7,120 6,020 1,100
OW&TaE sIIAH s 2AE(22) 220
ol 120,000& * 1AI2F = 1H 120
= 60
Al 60
Ot 100,000& * 1AI2F = 1H 100
= 50
Al 50
O0&ZSE sIH s Xz
500,000& = 13l 500
= 250
Al 250
OC&ZESE sLIH s =2l
80,000& 309 2,400
= 1,200
Al 1,200
OsgYIIAH W= =&Hl 20,0008 * 200 4,000
= 2,000
Al 2,000
206 M = Hl 8,400 7,500 900
= 4,200
Al 4,200
01 =8l 8,400 7,500 900
OGAMZESE =sIH e MU
80,000& = 309H 2,400
= 1,200
Al 1,200
O=gJIAH td = M=H 30,0008 * 200 6,000
= 3,000
Al 3,000




AN sgI=d
FM: sHXAI=
oHelr SEXEAYR CER-ED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 gt L= 480 480 0
2 240
Al 240
09 HALAHIEA S 480 480 0
O0AZsE sIIH s 4l
8,000& = 30 =« 23l 480
2 240
Al 240
405 XHobF S HI 56,000 42,000 14,000
= 28,000
Al 28,000
01 XAt 2 ZF S| 56,000 42,000 14,000
OuNsEESYIIAHXNA 56,000
O=sEEdH(EE) 56,000,000& =« 1CH 56,000
= 28,000
Al 28,000
HEsgo 23 HMO(XE) 45,000 0 45,000
= 22,500
Al 22,500
402 QI2H X201 M 45,000 0 45,000
= 22,500
Al 22,500
02 QIZE 2 AL EZ (01X TH ) 45,000 0 45,000
OFU=ge XA M AY
50,000,000& = 1JHA * 90/100 45,000
= 22,500
Al 22,500
=0 s&EdH ns2d NI (XE) 2,400 2,400 0
= 1,200
Al 1,200
307 21201 A 2,400 2,400 0
= 1,200
Al 1,200
02 IZtE S AIHE L 2,400 2,400 0
Os&EXNEX U= 2,400,000 * 1002 2,400
= 1,200
Al 1,200
SEXSAY 8 Il 28 NA(2Y) 7,400 7,400 0
= 3,700
Al 3,700
201 Let24d] 1,400 1,400 0
= 700
Al 700
01 At 2teltl 1,400 1,400 0




N s8II=
=R ESD EIE
Sel sETESAYHN EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Osodsigsaos 84 &g
700,000& = 23| 1,400
= 700
Al 700
202 O4dl 6,000 6,000 0
= 3,000
Al 3,000
01 = LH 4 bl 6,000 6,000 0
O=sEXEANTE2HSIA
20,0003 = 25¢ = 12& 6,000
= 3,000
Al 3,000
NeBRE H2sHSAXA(ZEY) 35,980 25,776 10,204
= 17,990
Al 17,990
201 L2l 12,200 7,000 5,200
= 6,100
Al 6,100
01 At 22l 12,200 7,000 5,200
OJI=2S4% 1= 4,000,000& 4,000
= 2,000
Al 2,000
OJlsES4*R =&l 600,000& = 29H 1,200
= 600
Al 600
OsgZzId=2oaedd 2,600,000& » 29H 5,200
= 2,600
Al 2,600
OSEZAMBUS 500,000& = 29H 1,000
= 500
Al 500
O RPN = 800,000& » 1H 800
= 400
Al 400
202 o4dl 23,780 18,776 5,004
= 11,890
Al 11,890
01 = LH o4 1l 20,180 18,776 1,404
OJl=E224 R ol 600,000& = 2H 1,200
= 600
Al 600
O=gIATS0IAA 0|
1,000,000& * 2% 2,000
= 1,000
Al 1,000
OSZAMSsNE 300,000& * 2% 600
= 300
Al 300




N s8II=
FM: sHXAI=
el SEXES A (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZEIAE Kbl 400,000&  1¥ 400
= 200
Al 200
O dzsHiges N& ol
307,300& * 529 15,980
= 7,990
Al 7,990
04 2 H 304l 3,600 0 3,600
ONSBLE 22Y ABHH ()
3,600,000& * 19 3,600
= 1,800
Al 1,800
SE 24 SXNAFANE(XIH) 50,000 100,000 A 50,000
Xl 25,000
Al 25,000
402 RI2HXt20l ™ 50,000 80,000 230,000
Xl 25,000
Al 25,000
02 RIZt X2 AL EZ (OIS ) 50,000 80,000 230,000
OSZ0124 SXME MHAH
50,000,000& = 10024 50,000
Xl 25,000
Al 25,000
SHES AHTAID MY MES} 30,000 30,000 0
Xl 15,000
Al 15,000
402 RI2EXt20l ™ 30,000 30,000 0
Xl 15,000
Al 15,000
02 RIZEXt 2 AL EZ (OIS ) 30,000 30,000 0
O=YEsS ™ALL oY M3
30,000,000 = 10024 30,000
Xl 15,000
Al 15,000
e 0 I8 Jzus(HS) 7,500 0 7,500
= 3,750
Al 3,750
307 glz2tol & 7,500 0 7,500
= 3,750
Al 3,750
02 QIZtE M AHE X 7,500 0 7,500
ottes Rl 28 WS
7,500,000& * 1JHA 7,500
2 3,750
Al 3,750
s I =& =t 439,280 331,040 108,240
< 131,784




A sgI=4H X3 & D
HE: SeX |
o9l Sl X A e =
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 307,496
SEXNZAIE G A& 335,280 234,440 100,840
= 100,584
Al 234,696
201 LBt 120,030 89,940 30,090
= 36,009
Al 84,021
01 At 22l bl 120,030 89,940 30,090
OdIls sHEEX X 120,000 * 93 A 11,160
o= 3,348
Al 7,812
OSYCHH SUH2N XA (SYQME)
60,000 = 1,227H 73,620
o= 22,086
Al 51,534
O=AUTH SAH2T X (4-HAS)
30,000& * 5559 16,650
o= 4,995
Al 11,655
OSYCH SUH2AN XA (S0eaL)
84,000& * 100" 8,400
o= 2,520
Al 5,880
oM 48RS DI 7
5,000& * 1,500% 7,500
o= 2,250
Al 5,250
OMM=AY HBDE ALEE 7Y
180,000& 180
< 54
Al 126
OMlsZol A2NE LAILEH(YE2Z) 2,520
[OPIE= 120,000& = 1AI2t = 1 % 63 720
o= 216
Al 504
OFJt 100,000 * 3AI2F » 1& * 63 1,800
== 540
Al 1,260
301 et A= 14,650 22,650 A 8,000
= 4,395
Al 10,255
09 HAIAHIBEAZ 14,650 14,650
OMHso A8 NS ALY
8,000& * 1,225H 9,800
< 2,940
Al 6,860
OsHOSESHYES A B A 4,850,000 4,850
& 1,455
Al 3,395




AN sEIIsdE X200

B SN
Sl SIS XA (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 3,150 3,150 0
< 945
Al 2,205
02 PIZHEHAHE L 3,150 3,150 0
OTL=sdl s&LsDI 3,150,000& * 1002 3,150
< 945
Al 2,205
308 AXIEHH S0l 74,250 58,500 15,750
< 22,275
Al 51,975
10 B2 SUHUE3 &S A I 74,250 58,500 15,750
oHSs HDIANBE 29
2,250,000& * 33Y¥ 74,250
< 22,275
Al 51,975
402 RIZ2EXt20l ™ 123,200 60,200 63,000
= 36,960
Al 86,240
02 22t X2 AL E = (01X THE) 123,200 60,200 63,000
OMAEol HHY SHS HEMM X2
22,000,000 * 1JHZ * 70/100 15,400
< 4,620
Al 10,780
OS8RS SIIIXSA NBAL
50,000,000& * 1JH2 = 70/100 35,000
< 10,500
Al 24,500
ONYFAMNS M5 MIIS B3
2,000,000& * 2JH2 = 70/100 2,800
< 840
Al 1,960
OHAEAN ANET JHUTE ZHANY
100,000,000 * 1JH4 = 70/100 70,000
< 21,000
Al 49,000
sEME G MIl=E2 74,000 66,600 7,400
< 22,200
Al 51,800
201 L2l 54,000 43,000 11,000
< 16,200
Al 37,800
01 At 22l 54,000 43,000 11,000
O=E04 BPAS =2 X
60,000& » 9004 54,000
< 16,200
Al 37,800
307 21201 A 10,000 0 10,000
< 3,000




AN sEIIsdE X200

BH: SNl
Sl SIS XA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 7,000
02 It M AMHEE 10,000 0 10,000
O0d=sge s8IMHE XA
10,000,000& = 1JH A 10,000
< 3,000
Al 7,000
402 RI2EX=20l A 10,000 10,000 0
< 3,000
Al 7,000
02 QI EAILS EZ (01X S) 10,000 10,000 0
O=&04 il s&Yg &d X
10,000,000& * 1JH 2 10,000
< 3,000
Al 7,000
MIIEES ALY &at 30,000 30,000 0
< 9,000
Al 21,000
201 24l 10,000 10,000 0
< 3,000
Al 7,000
01 At 2t 2l 10,000 10,000 0
OsJIH =3l W8 BEE2 HA
20,000& * 5008 10,000
< 3,000
Al 7,000
206 M= Hl 20,000 20,000 0
< 6,000
Al 14,000
01 =4l 20,000 20,000 0
OsJIH =322 g XN& M=
200,000& » 1008 20,000
< 6,000
Al 14,000
HE2HZH(XZ &) 2,078,975 1,386,217 692,758
eI 2l 1,947,509 1,272,857 674,652
ol 2AY| 1,947,509 1,272,857 674,652
101 @124l 1,947,509 1,272,857 674,652
01 2= 296,236 280,170 16,066
OAZe 224g
10,2993 = 71% = 30AI2t = 123 263,243
OSIUAXN FL2R>2(6Y)
1,6473 * 6H » 60 32,993
02 JIEt A2+ 3,414 3,312 102
ONAAZR LY (HALE)
9,481% * 18 » 30AI2F » 123 3,414




2N
X ZH -
L= B

el

Sl ME XIS
HS YA (NRIID)
SEEEET]

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
03 2IHAZZXHE %= 1,647,859 989,375 658,484
O30l 1,492,621
@)k 1,042,881
-Jt= 139 Xt 32,585,2809 * 14H 456,194
-LI=Z 138 Xt 30,792,120 * 29Y 61,585
-Ct= 139 Xt 29,071,080 = 2 58,143
-A7 22 (Y8
66,800 * 324 x 3H 64,930
AR TR (HY)
72,990 * 324 x 17Y 402,029
o< 325,345
-tESY 33,600
ol Xt 40,000 = 30 = 12& 14,400
JIEFIIE 20,000& = 80Y * 12& 19,200
—HAIZ24E(IIZ)
18,700& * 30AI2F » 14" x 128 94,248
-HEAIZZ24E(LS)
17,730& = 30AI2F » 2 * 12& 12,766
-HEAIZ2Z2LE(0O3)
16,800 * 30AlI2F » 2 * 12& 12,096
-5422454(0t3)
149,600& = 14Y » 25 52,360
-542244(L3)
141,840 * 29 = 25¢ 7,092
-542244(03)
134,400 * 29 = 25¢ 6,720
EPNES=a =) 99,780 * 14% * 20 27,939
- (US) 94,5603 * 2% x 20¢ 3,783
== (02) 89,600 » 2 x 20 3,584
&A= 50,000& = 38Y * 12& 22,800
Xt st =& 382,500 * 42| ~ 12Y 18,360
-2 (0132) 135,770% x 14H « 128 22,810
254" (U3) 128,300& * 29 x 12& 3,080
-253+2(032) 121,120& = 29 = 128 2,907
—HEE G 100,000 * 1 = 123 1,200
OY ZE S| 55,995
-3 1,357,720& * 149 * 23| 38,017
-U= 1,283,000& * 2% « 23| 5,132
= 1,211,290& = 2¥ x 23] 4,846
N7 2R 400,0009 * 20H 8,000
Oz &l 150,000& = 38Y * 12& 68,400
OXNXSHHEE2 155,238
OHZdEE= 1,492,621,000& * 3.12% 46,570
OIILYEE=Z 46,570,000 * 7.38% 3,437




2A: sgIlsdyg XNaI= 0
M HMSAAH (X2 )
el ol E Ayl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oo=89H3 1,492,621,000& * 4.5% 67,168
oOns:sd 1,492,621,000& * 1.5% 22,390
OMMES 1,492,621,000& * 1.05% 15,673
=&t 131,466 113,360 18,106
Jl23Hl 131,466 113,360 18,106
201 et A | 42,356 41,916 440
01 AFR2 2t 2l Yl 42,356 41,916 440
oJ2gesd sZU(II=8Y|)
500,000 = 22H 11,000
o3gdl(JIE&Hl)
8,000 * 22 x 82 x 12& 16,896
O Y A| 60,000& * 1174 7,020
O=ZH| (THE) 30,000& * 248 7,440
202 04| 72,960 57,024 15,936
01 2L Y] 39,360 28,224 11,136
O=2UWdAHbl(II=FHl)
20,000& * 1099 = 8 * 12& * 80% 15,360
O 22 oyl 80,000& » 2% % 52 % 303 24,000
02 AN Y| 33,600 28,800 4,800
OXEJ & EHHHI
200,000& = 124 * 12& 28,800
O=gol A M|
200,000& » 2% = 12& 4,800
203 ¥R =&XH| 16,150 14,420 1,730
01 J|22I PR =Y 6,600 6,000 600
OJ=H(42) 6,600,000& * 1H 6,600
02 MRt E R =AY 4,330 3,320 1,010
OJ|EN 4,330
01004 0Ol ot 40,0008 ~ 1009 4,000
O101~400H 30,000& * 11H 330
04 ENSIHRF=EY| 5,220 5,100 120
QI &E 5,220
030" Olst 400,000 = 12& 4,800
O30y =1t 5,000& * 7 * 12& 420
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EX: sgIIsde D=2
MM sHI) =23
el HeaAIMAY (sl &2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OsgE Ja AMEEH KXY
500,000 = 6= 3,000
301 LBt A= 1,800 1,800 0
09 HAIAHI EAZ 800 800 0
OMZXS ZEIIE AR SAH|
8,000 * 100" 800
12 JIEtE2 A= 1,000 1,000 0
OYdlE HEY 29 Ba32 5008 ~ 2,000m 1,000
402 SI2FXHE0| & 316,040 340, 100 A 24,060
01 BIZtXIEAY B X (KM ) 316,040 340, 100 A 24,060
OYsol S22 (IPM) JIsE3 AlY
35,000,000€¢ = 1JH2 = 70/100 24,500
Ol Y28 2 Mol AlY
45,500,000& * 1JH A * 70/100 31,850
ONES HWEUHIX X4 AY
27,350,000& * 102 27,350
OB E S0 MAMSX =4 AY
64,000,000& * 1002 64,000
Ol M= L HELAS THHHDI= AlY
12,400,000€ * 3JHA = 70/10 26,040
OZ23HI=0| X MEE 829 A Y
32,500,000& * 102 32,500
O MAXHEH J=Xe& Z2MH HE AY
10,000,000& * 2J0A = 70/100 14,000
OUX Mo LAWY I3 MY
23,300,000& * 1002 23,300
OH=Z=2EY 0l 282 el X AlY
10,000,000 * 4002 40,000
OFAMHAN XMEH SN MSE X AME
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SN =2)aME JlzE2 D

T . A
3N s@llsEs

SRl MIls=tedls

SN HE -G (3A) - NBAY - B2 0l &k o il
== 6,300
Al 14,700
OANEA SR My JBRE Al
40,000,000 = 1JHA = 70/100 28,000
== 8,400
Al 19,600
ONs2 N8 W2 X4 AlY
50,000,000 = 1JH2 = 70/100 35,000
== 10,500
Al 24,500
OXEA FREE L S SEA AYH
20,000,000 = 1JHA = 70/100 14,000
== 4,200
Al 9,800
OICT 2 SAMMAHUEAAE 2= AlY
20,000,000 = 1JHA = 70/100 14,000
== 4,200
Al 9,800
ONEE 2E 2IIIIX &4 /\I%
20,000,000& = 1JHA = 70/10 14,000
== 4,200
Al 9,800
OFNME BZ& D3s)ls E53 MY
20,000,000 = 1JHZA = 70/100 14,000
& 4,200
Al 9,800
OO0|AJ|I= HHl ¥= MAY SHEA AH™Y
20,000,000& = 1JHA = 70/100 14,000
& 4,200
Al 9,800
OA HAIZCIAIAY 20| B3 AlY
20,000,000 = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
O=AMI UHHl sSAEZ L JIsZYuY MY
20,000,000 = 1JHZA = 70/100 14,000
& 4,200
Al 9,800
OICT &2 JIs2Y & Hs sS4 AY
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
O THOHOfl & Ol & OFX M A Al
20,000,000€¢ = 1JH2 = 70/100 14,000
& 4,200
Al 9,800
ONAS ESAZS OHE MMdlzs ES
20,000,000 = 1JHA = 70/100 14,000
& 4,200
Al 9,800
OJIEH3 s DSEHA MEHAIE
30,000,000€¢ = 1JH2 = 70/100 21,000




N sIIsdH JisE22H
M =928
S MII=2ddIsEs (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 6,300
Al 14,700
ORIl=s ol P DE JHH AlY
20,000,000 * 1JHZ * 70/100 14,000
= 4,200
Al 9,800
S&E dolls aZLNe 29 10,000 0 10,000
< 3,000
Al 7,000
201 ¢er24] 10,000 0 10,000
< 3,000
Al 7,000
01 At 22l 10,000 0 10,000
O=AHHAIE i ¢ 7,000& * 300% 2,100
< 630
Al 1,470
OdYdis PLS 22 M 1,000& *» 9702 970
= 291
Al 679
OANR2YE =2t 3,000,000& 3,000
< 900
Al 2,100
OWZELA I=Hl (&) 90,000& = 1504 1,350
< 405
Al 945
OHZERA Y3 (ag) 60,0002 = 1504 900
< 270
Al 630
OBHE YH BN 49
70,000& * 6Y  43] 1,680
< 504
Al 1,176
HHR2IZH(OlsE22 ) 61,691 61,658 33
JlEZ3l 61,691 61,658 33
JlE&l 61,691 61,658 33
201 Zer24] 20,651 20,618 33
01 At 2t 2l 20,288 20,288 0
OJl=geR=d 524 (0I=24)
500,000& = 169H 8,000
O=EHI(J1E&HI)
8,000& = 16H * 8¥ » 12& 12,288
02 22| 363 330 33
oOfERI 330& = 1,100 363
202 044l 37,440 37,440 0
01 2LHO! bl 3,840 3,840 0




N sIIsdH JisE22H
M HER2GFYOIsE3)
chelr D123l
% 5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O=UadotlI(2IEZ4l)
20,0003 = 2% = 8 » 12& 3,840
02 M0 33,600 33,600
OEMNWHI(DIzE2=H)
200,000& = 10¥ ~ 123 24,000
OEUHHI(SHAE D)
200,000& = 4H « 123 9,600
203 YR =&l 3,600 3,600
04 FN2ELRZ=TH| 3,600 3,600

O©J|&EH (202! 0135t) 300,000& * 128 3,600




= o
A & 0l & AF 2 E A A
20198 &= =0la LBt selI=dlH NI ~ sl SAsg2
AN sEIIsdEH SRS Y
i ARONY
Sl HRHE R Y (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sYJIsdH A2 12,424,436 6,783,910 5,640,526
= 1,555,875
Xl 625,000
< 182,850
Al 10,060,711
Ao 12,343,598 6,730,398 5,613,200
= 1,555,875
Xl 625,000
< 182,850
Al 9,979,873
A= d 18,586 25,780 AT,194
SN EARE 18,586 25,780 AT,194
201 2et24d] 7,386 7,260 126
01 At 22l 6,000 6,000 0
OsgolagAaA2dl
100,000& » 54 « 12& 6,000
02 2324l 1,386 1,260 126
OZ=sZEXN &5 RERS
330& = 350 » 12& 1,386
301 et a3z 11,200 11,200 0
09 HALAHIEA S 11,200 11,200 0
O=QOINEARY DABA
8,000& * 200 » 70 S¢S 11,200
HARZe K& 1,002,913 5,385,236 A 4,382,323
= 190,000
Al 812,913
All=2 S M 20,000 0 20,000
= 10,000
Al 10,000
206 M= Hl 20,000 0 20,000
= 10,000
Al 10,000
01 M= 4l 20,000 0 20,000
OSEJls NHSEE DSHYUMSH JIsA
& 500& * 40,0002 & 20,000
= 10,000
Al 10,000
SANSMEHH LAY 360,000 0 360,000
= 180,000
Al 180,000
401 Al HIZ 201 Y] 360,000 0 360,000
= 180,000
Al 180,000
01 A& HI 360,000 0 360,000




AN sEIIsdE AFHED
I AFME

Helr A2 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZANAMEHA(SA HIRE) ZEAY
360,000,000& * 1JH 2 360,000
= 180,000
Al 180,000
sgeate 67,880 257,814 A 189,934
201 £B-2%H| 240 36,761 A 36,521
01 At 22l 240 12,920 A 12,680
OAUSAEANE SEEIE AIR22H
3,000& = 80H 240
203 YR =&l 2,000 1,000 1,000
03 AIMZ=XH 2 =AH| 2,000 1,000 1,000
O=gHFIME R=2 2,000,000 2,000
206 M= Hl 20,000 55,000 A 35,000
01 =4l 20,000 55,000 A 35,000
OXAHAFRIMLAMY AEME
400,000& = 50& 20,000
301 et d = 640 640 0
09 HALAHIE& S 640 640 0
OAUTAEANY S SAEH
8,000&  80H 640
402 RI2FX=01 M 45,000 45,000 0
01 2I2E 2 A B (KM ) 45,000 45,000 0
O=ZEHT SHASAE
15,000,000& * 200 £ 30,000
OMASZINY ASAE
15,000,000& * 1JH £ 15,000
DlME MMEZ(RE,08) 459,033 436,193 22,840
101 14 dl 17,203 97,586 /80,383
04 JIZHHZ2XNHESE+ 17,203 97,586 /80,383
ONldE MaEZ A2 (RE, 1Y) 17,203
Oy 72,9908 * 1H * 262 « 8F 15,182
OZFE=FItHI 200,000& = 1Y = 23] 400
OHLEE= 15,182,000& * 3.12% 474
OFJIRAEE= 474,000 = 7.38% 35
O=0d=z 15,182,000& * 4.50% 684
OnE:Ed 15,182,000& * 1.50% 228
OuTHEH 18,978,000& * 1.05% 200
201 et 124,200 100,227 23,973
01 At 221l 45,078 21,400 23,678
ORE0IMES Mo 25 2,700
OWuM ¢ 228 M 400,000& = 2& 800




AN sEIIsdE AFHED
I AFME

e dpae X (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OllM=2 2AMEA 35,000& * 20= 700
OllM=A &5 90,000& * 8H 720
O0lM=4 otd 3t 60,0008 * 8™ 480
ORES0IM=E L& HAsSAY|
1,500,000& = 23] 3,000
ORSIVEIMNME dREdH dIIE3H|
400,000& * 33| * 2004 2,400
OKEIDEOIMS HIYD HIIEAY|
1,000,000 = 43| = 204 A& 8,000
OKRSIVEOIMEA 29 AR 224
500,000& * 43| * 2002 4,000
OZ&X HZE 19,467
OfE0|ME2A TR (MA2L)
320& * 30,000& 9,600
ODEEIMESA ZEXI(IE3Kg)
7593 * 13,000%& 9,867
OZ2zdc SEZA 5,511
OZ2ANAME =42 (AIFH|, AAHl, AIE 22|
H ) 3,211,560& = 1A 3,212
O0latstAA =2 (Hlade, 535)
298,100 12 299
OMBIAIEALA A M 2,000,000& = 1A 2,000
02 Z=22%H| 79,122 78,827 295
ORENEHIME HHRA 244l
2,000,000& = 103 * 20 40,000
OLNEEIMESHILA 2 MIIAMEZ 17,252
OPIR=E =] 7,470 * 80kw * 12& 7,172
OdIINES 84& x 10,000kwh = 12&€ 10,080
OKRENEDMSMMN SFRHI(ESR)
1,350 * 9002/ = 183 21,870
206 M = H| 252,630 230,480 22,150
01 X2 H| 252,630 230,480 22,150
OKE0IM= BHX =4
220 * 600,0002| H 132,000
ODNEHIIMZE BHXI M=Hl 2,300& * 33,600kg 77,280
o2z gcet Al MH=Hl 500& = 30,0002 H 15,000
OKRENE0ME MA THE(DIEH
90,000& x 458 = 73| 28,350
405 XHA&HF S HI 65,000 7,900 57,100
01 XML 2 FF S| 65,000 7,900 57,100
O=2=Z &l etuf & D] 32,500,000 = 2CH 65,000
SI=s0HAEHEEH SE2AM 4 96,000 0 96,000
307 2iz2to| A 40,000 0 40,000
02 QIZ2IA AAIE E X 40,000 0 40,000




2N
X ZH -
L= B

el

SIl=dg HFHE
A ON Y
AR XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OzEIseE M WX
15,000,000 * 243l 30,000
OOHAEHdH H0sI A2ZFH K&
5,000,000& = 2043l 10,000
402 QI2H X201 M 56,000 0 56,000
01 2IZF 2 A B (KR ) 56,000 0 56,000
OOHNEdH d&dsdts =M Jgtxd
20,000,000& = 404 = 70% 56,000
gel2sid 2,932,731 525,831 2,406,900
= 429,000
< 7,500
Al 2,496,231
Al l=2 = AMd 270,000 0 270,000
= 135,000
Al 135,000
402 RI2EX20| M 270,000 0 270,000
= 135,000
Al 135,000
02 QIZF 2 A EZ (01X TH ) 270,000 0 270,000
OAE2E Xl , 24 Y Ot3tOol AlY
70,000,000& = 10H 4 70,000
= 35,000
Al 35,000
OAMEZRE T3 MF ¥ =AML 75 MY
200,000,000& * 1JH 4 200,000
= 100,000
Al 100,000
NE2SAHE sgs NJAHH 1,800,414 0 1,800,414
401 AIEHI L 201 1,800,414 0 1,800,414
01 A& Bl 1,800,414 0 1,800,414
O XNE2=kdst EXHY ¥ sANEERES
342,740& * 5,253m 1,800,414
SHE ALY 500,000 0 500,000
= 250,000
Al 250,000
405 TtabF S 500,000 0 500,000
= 250,000
Al 250,000
01 AL ESH SHI 500,000 0 500,000
OFFEY AT 2 500,000
OY%XH Z20tEehll 22 A I (LC-MS/MS)
300,000,000& * 1CH 300,000
= 150,000
Al 150,000
OJIM 2 20tE el 2224 I (GC-MS/MS)
200,000,000& * 1CH 200,000




2N
X ZH -
L= B

el

SYIl=dg AR
A ON Y
gel2sid

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 700,000
Al 100,000
SEEHASIXNE(ZY) 88,000 35,000 53,000
= 44,000
Al 44,000
201 ¢er24| 24,800 0 24,800
= 12,400
Al 12,400
01 At 22l 10,000 0 10,000
OZEZFA Let==EH| 100,000& * 403 4,000
2 2,000
Al 2,000
OXAHH&a L= H| 100,000& * 608 6,000
2 3,000
Al 3,000
02 =224l 14,800 0 14,800
OZZ A HHI KX HI 300,000& * 36 10,800
= 5,400
Al 5,400
OX A &a ZH R H 500,000& * 88 4,000
= 2,000
Al 2,000
202 O4dl 5,200 1,680 3,520
= 2,600
Al 2,600
01 = LH 4 di 5,200 1,680 3,520
ozsRsY 2Y HE4E
20,0003 * 4H » 25¢ 2,000
= 1,000
Al 1,000
OEZ AlE MH OHl 20,0008 * 4% = 40 3,200
= 1,600
Al 1,600
206 24 38,000 0 38,000
= 19,000
Al 19,000
01 MHZ 4l 38,000 0 38,000
OZEdEY 2d M= 300,000& * 1008 30,000
= 15,000
Al 15,000
OXAHLA 29 M= 400,000& = 205 8,000
= 4,000
Al 4,000
405 XHoHE S HI 20,000 0 20,000
= 10,000
Al 10,000
01 AL EFSFHSHI 20,000 0 20,000




AN sEIIsdE AFHED
I AFME

Sel HelREN (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZEgZFA FH P 20,000
O&8Z M= 3,000,000& = 2CH 6,000
2 3,000
Al 3,000
ONE B28 HFED 2,000,000& =+ 1CH 2,000
2 1,000
Al 1,000
OANZ Z2471 7,000,000& = 1CH 7,000
2 3,500
Al 3,500
Ox=X H=DI 5,000,000& =+ 1CH 5,000
= 2,500
Al 2,500
=234 FHA 25 15,000 15,000 0
< 7,500
Al 7,500
201 Let24E] 9,000 7,470 1,530
< 4,500
Al 4,500
01 At 22l 8l 9,000 7,470 1,530
OO0lei&ty 2F01IH0I0l ws L8t =EH|
50,0002 *» 203 1,000
< 500
Al 500
OO0lcHet 2F 0001 1| ZA=E
300,000& * 203l 6,000
< 3,000
Al 3,000
O0lcHat 2F 0200l nEXE =
500,000& * 43 2,000
< 1,000
Al 1,000
206 M= Hl 4,000 1,770 2,230
< 2,000
Al 2,000
01 MHZ 4l 4,000 1,770 2,230
O0lcHet 2F0IH0I01 W=E AsSME
20,000& = 50 « 43| 4,000
< 2,000
Al 2,000
301 et a = 2,000 5,760 A 3,760
< 1,000
Al 1,000
09 &AL HI B &S 2,000 960 1,040
OO0l 2 FO0I3H0I0l nE =S4
8,000& = 509 = 53] 2,000
< 1,000
Al 1,000




2N

SYIl=dg AR

I AFME
Helr dela2sid

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s sMH A2 st 143,495 257,722 A 114,227
201 £B-2d| 30,995 34,150 A 3,155
01 At 22l 14,250 15,000 AT750
OZZEA st HII= HMeldl
550,000& * 9& 4,950
oMz 2ela st HIIZ2 HMeldl
550,000& * 2& 1,100
OZHABY 22X SHALAX
100,000& *» 6 12l 600
oxg#I=EH 1,100,000& * 23| 2,200
OSEHZLY MBI 100,000& * 308 3,000
oBsAZA o= 90,0008 * 6% 540
OZEHZFY HUs 60,000 * 6 360
ouEZTEacld 2E AMR2elH]
100,000& * 158 1,500
02 2324l 16,745 19,150 22,405
OEZAF A FHIRXH 350,000& * 258 8,750
oxaEZdaa HHSXAH 300,000 * 258 7,500
OELHATAH MNEN SERS
330& = 1,500 495
206 M= Hl 46,500 47,000 A 500
01 MHZ 4l 46,500 47,000 A 500
OZEHEEY 29 M= 300,000& = 358 10,500
oxszaey 29 M= 800,000& * 45& 36,000
402 RIZEX201 ™ 66,000 98,000 A 32,000
01 U2 E2AILE X (XA M) 66,000 98,000 A 32,000
odd=2E AME X& 2SAE
30,000,000 = 1JHA = 70/100 21,000
OAEZE 28 B33 A4SAE
25,000,000 = 2JHA = 70/100 35,000
O=2U=s433 170t £23AE
5,000,000& * 242 10,000
IS ANE2Y 115,822 218,109 A 102,287
101 @124 dl 26,723 97,387 AT0,664
04 DIt Z2XREES 26,723 97,387 AT0,664
ONF0t RPEIHHY Y B4 FY 26,723
OJIZtH 22X 182 (HI])
72,990¥ * 4F * 269 * 3 22,773
OFaRz gk = 1= 37,955,000& * 3.12% 1,185
OFIIAEE= 1,185,000& * 7.38% 88
O=8g=z 37,955,000& * 4.50% 1,708
ons=sdg 37,955,000& * 1.50% 570
OttHEH 37,955,000& * 1.05% 399




AR

LI =dE HFIHE Y

I AFME
Helr dela2sid

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 42,599 46,972 A4, 373
01 At 22l 7,850 19,160 A 11,310
OXZ A La AtR22lt] 100,000& * 20& 2,000
OXAHH L 2Y Y= 90,000& » 54 450
Ox=ZHLa 2 HPsl 60,000 * 5% 300
OXAU LA 2F AHAZHI(LPGIIA)
100,000& =+ 53l 500
oZzARY 2Y ARB2AY
100,000& * 153 1,500
OXXMHI LA 3tst HIIZS Xeldl
550,000& * 2& 1,100
OZXZZXHHY E HiolelA HAHIE
100,000& 1083 * 23 2,000
02 2324l 19,749 27,812 A 8,063
OX A4 FH KX 500,000& = 128 6,000
O=3=24 A4 Rl 500,000& * 103l 5,000
O=&d 4 FHRXH 250,000& = 43| 1,000
OXAMY =s4a FFU(ER)
1,350& = 5,7402IH 7,749
03 A2 S HI 15,000 0 15,000
oz=2sHEg2 dA & 2
1,000,000& * 15& 15,000
206 = Hl 46,500 48,750 A2,250
01 M2 4l 46,500 48,750 A2,250
OXAtHLA 29 M= 400,000& = 90& 36,000
o=z 32d 2 M2 150,000& * 70& 10,500
sSMSIHSEEEH 2,497,856 793,551 1,704,305
= 270,000
Xl 625,000
< 34,350
Al 1,568,506
MIl=2 S M 120,000 100,000 20,000
= 60,000
Al 60,000
402 RIZEX20l ™ 120,000 100,000 20,000
= 60,000
Al 60,000
02 U2 TEALEZ(0IETHR) 120,000 100,000 20,000
OsE=E AHE Aol 2t® 2ALt=2 MSat
60,000,000 = 10024 60,000
= 30,000
Al 30,000
Os4Xel s43 I3 &Ms AlE
60,000,000 = 10024 60,000
= 30,000




AN sEIIsdE AFHED
I AFME

oSl SASIIBAASH (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 30,000
sgdEodEAdY 20,000 0 20,000
= 10,000
Al 10,000
201 £B-2dH| 20,000 0 20,000
= 10,000
Al 10,000
01 At 22l 20,000 0 20,000
ORI IISAE 228 d2 /NS
20,000,000& 1A 20,000
2 10,000
Al 10,000
NE=sEXNZAIS LA 50,000 0 50,000
X 25,000
Al 25,000
402 QI2H X201 M 50,000 0 50,000
Xl 25,000
Al 25,000
02 QI 2 AL EZ(OI X TH ) 50,000 0 50,000
Os20 HTALH AEHH N
50,000,000& * 1JH A 50,000
Xl 25,000
Al 25,000
SEXNEZI|ELE Y 1,200,000 0 1,200,000
Xl 600,000
Al 600,000
401 AIEHIZL 28I 981,553 0 981,553
X 490,777
Al 490,776
01 A& Bl 960,323 0 960,323
OsdEIBI=Xd2 55 AL
927,400,000& * 3.55% 32,923
Xl 16,462
Al 16,461
OsdEINSIN =N S A
2,000,000 * 463.70 927,400
Xl 463,700
Al 463,700
02 Zeltl 15,389 0 15,389
O=sdEINSIN=N3AE EF3 A Zeltl
927,000,000& * 1.66% 15,389
Xl 7,695
Al 7,694
03 AIE 20 HI 5,841 0 5,841
O=s4EINSIN 2N SIS AL AIE 20U
927,000,000& * 0.63% 5,841
Xl 2,920




AN sEIIsdE AFHED
I AFME

el sMSItSaEsl (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

Al 2,921

405 XHoHF S HI 218,447 0 218,447
Xl 109,223
Al 109,224

01 XL 2 ZFH S| 218,447 0 218,447

OSMSINTIENAD HBMLY HFZHY|

- 218,447
Ot It D| 12,747,000& * 1CH 12,747
X 6,373
Al 6,374
OMHIA"3 2,400,000& = 2CH 4,800
Xl 2,400
Al 2,400
O EdAHEHID 5,000,000& =« 1CH 5,000
Xl 2,500
Al 2,500
(OFESS= K= sg— W) 22,000,000& =« 1CH 22,000
Xl 11,000
Al 11,000
Oo0lsE = 2,600,000& = 3CH 7,800
Xl 3,900
Al 3,900
OoxgAazsIl 2,500,000& = 1CH 2,500
Xl 1,250
Al 1,250
OX STHA | 7,000,000& « 1CH 7,000
Xl 3,500
Al 3,500
OO0l =2 2 1+ J| 900,000& = 2CH 1,800
Xl 900
Al 900
OMZHA 8,750,000& « 1CH 8,750
Xl 4,375
Al 4,375
OHMES &I 8,250,000& = 1CH 8,250
Xl 4,125
Al 4,125
OZSH 2,500,000& « 1CH 2,500
Xl 1,250
Al 1,250
ORMI = bH 2 12,500,000& * 1M E 12,500
Xl 6,250
Al 6,250
OSEelE b2 12,500,000& * 1M E 12,500
Xl 6,250
Al 6,250
OABGE ZED| 5,000,000& = 1CH 5,000
Xl 2,500
Al 2,500




AN sEIIsdE AFHED
I AFME

el saeIBNYRY CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OEZH 4,400,000 = 1CH 4,400
Xl 2,200
Al 2,200
OAEZED| 30,000,000& * 1CH 30,000
Xl 15,000
Al 15,000
(@)= 11,000,000 * 1CH 11,000
Xl 5,500
Al 5,500
oz =dA 4,400,000& = 1CH 4,400
Xl 2,200
Al 2,200
O¥==7| 50,000,000& =« 1CH 50,000
Xl 25,000
Al 25,000
OZ=SUAHA DI 5,500,000& = 1CH 5,500
Xl 2,750
Al 2,750
SEME 235 Mlls BE=2 114,500 70,000 44,500
< 34,350
Al 80,150
307 21201 A 44,500 0 44,500
< 13,350
Al 31,150
02 IZtE M AHE L 44,500 0 44,500
O=sIIs4AE EE s4gHz2d A
20,000,000& * 10H A 20,000
< 6,000
Al 14,000
O=sZ8=s8gdtd AS35 0AHE X&
20,000,000& * 102 * 70% 14,000
< 4,200
Al 9,800
OsdtE JIIBHS ZECIAL i
15,000,000& * 10z * 70% 10,500
= 3,150
Al 7,350
402 DI X 20| A 70,000 70,000 0
< 21,000
Al 49,000
02 QI 2 AL EZ (01X TH ) 70,000 70,000 0
O=s8Id sALE3 AlY
100,000,000& * 102 * 70% 70,000
< 21,000
Al 49,000
S&RE =2 J=Xd 400,000 0 400,000
= 200,000
Al 200,000




AN sEIIsdE AFHED
I AFME

SRl SNBIIBUYRY (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 75,000 75,000
= 37,500
Al 37,500
01 At 22l 20,000 20,000
OSMTA S2E ABNY L B e
20,000,000& 20,000
- 10,000
Al 10,000
03 A2 Z Hl 55,000 55,000
OS&Id 858 MEZz)d 22
50,000,000& = 13l 50,000
= 25,000
Al 25,000
OSMTA S2EA 2 MstE YEAT
= 5,000,000& * 14 5,000
= 2,500
Al 2,500
207 A& H| 9,000 9,000
= 4,500
Al 4,500
TEEEETT 9,000 9,000
OSHTIR S=EN ZHLH ALY
9,000,000& * 1 9,000
= 4,500
Al 4,500
402 RI2FX =201 M 230,000 230,000
= 115,000
Al 115,000
02 QI EAISEZ (OIS ) 230,000 230,000
OSHIH =8 Ax2Y 435
200,000,000& * 1JH 2 200,000
= 100,000
Al 100,000
OS&TH 858 AZHE AIEHA
30,000,000& * 1JH A 30,000
= 15,000
Al 15,000
405 RHoHF S HI 86,000 86,000
= 43,000
Al 43,000
01 XL 2 FF S| 86,000 86,000
(OF=Fap SRS N 6,000,000& = 1CH 6,000
= 3,000
Al 3,000
oOZZIUA 25,000,000& = 1CH 25,000
= 12,500
Al 12,500
OAEZ A 29,000,000& * 1CH 29,000




2N
el

el

X ZH
S =

SYIl=dg AR

SHENSUYEFH

(i}

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 14,500
Al 14,500
osd¢EzEY3 9,000,000& =« 1CH 9,000
2 4,500
Al 4,500
og=gJl 14,000,000& * 1CH 14,000
= 7,000
Al 7,000
O9 Al 3,000,000& =« 1CH 3,000
= 1,500
Al 1,500
S22 I3 & J=X3as 29 454,796 440,491 14,305
101 @124 dl 50,886 77,641 A26,755
4 D122 2REES 50,886 77,641 A26,755
OsdEIBI&eXdd 2 ALY(HHELR)
72,990& * 3F * 262 * 8 45,546
O=FE= 4,740
OFak= k= 1= 45,546,000& * 3.12% 1,422
OINLAEEE 1,422,000& * 7.38% 105
O=gd3 45,546,000& * 4.50% 2,050
onssdg 45,546,000& = 1.50% 684
OMTHEH 45,546,000& = 1.05% 479
OsdESIEJI=Nda 28 HE SOt
200,000& = 3H 600
201 Yet2 | 174,410 180,850 16,440
01 At 22l 136,820 142,800 A5,980
Os&SIHEJI=XN& 2 IS 1,500
o= 90,000& = 109H 900
O F 3t 60,000& = 10H 600
O=s4ElBI&eXd& AIHE WEEX M
2,000 = 2,00000# » 5& 20,000
O=s4E]lSI&sXNd& AHE & AEIA H
BNy 1,000& = 2,00000 » 53 10,000
O=s4ElBIN&sXN& AHE AZEX M
2,000& » 5,000& 10,000
Os&SIIIN =X ot 22 ME
3,000& » 1,000% 3,000
O=s4ESl3J 2k 2IAJS & 1,820
oJl= 100,000& = 7H « 23| 1,400
O=1 30,000& = 78 « 23| 420
O=s4EISHE RIS EZ A 22|
400,000& * 68 * 43| 9,600
OstEIIENE L2 248
400,000& * 102 4,000
OsdEIIENE RSIIEEE AIE 22l
2,500,000 = 43| 10,000




2N S SME
HE: o pope

e
1
=
ut
B

ol SM2IBAYRA (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OsSMNEINZNME 2s2 A 22|
2,500,000& = 43| 10,000
OHACCP AtE 2tel H&E 4,000,000& = 13| 4,000
OsdEINZ2)=Xd2 29 2572
50,000 * 50& 53| 12,500
OsAEINZE Eoldls & AEEH S22
2,500,000& = 2A 5,000
OsdESIHEI)I=Xd2 8 2 L B2 2
A 2| S Xl 6,000,000 = 43| 24,000
OsdEINZ2I=sX22 =22l KA
800,000 = 123l 9,600
OsNMESIIZRI X2 SAS MY D Heldl
= 9,000 * 2000H 1,800
02 2324 37,590 38,050 AN 460
OsdEIIZBI X2 M2 B2 S8
=] 600,000 = 43| 2,400
OSASIRI=XAZ HAZH|(IHA)
40,000 * 6= 240
OstEINZ2II=X22 AlEEH S X |
200,000 * 99CH 19,800
OsdENZ2)=X2 A=) 2uA
150,000 = 20= 3,000
OsAEINZ2INENKZ 29 SIUH(ER)
1,350 = 9,0002| & 12,150
206 M = dl 50,000 50,000 0
01 X2 bl 50,000 50,000 0
OsdESIHZ2)=Xd2 29 MY
500,000& * 100= 50,000
207 ) | 10,000 20,000 A 10,000
01 g EAY| 10,000 20,000 A 10,000
OsNMZ2IVISHE WY 249 10,000,000& 10,000
405 XHA&HF S HI 169,500 39,000 130,500
01 A E B F S| 169,500 39,000 130,500
O©OZ2J12=D|(10HP) 15,000,000& = 1CH 15,000
©Z2J12=D](3HP) 500,000 = 1CH 500
(OES=I =" PP iyl 15,000,000& = 1CH 15,000
Os2Z2AHXD| 25,000,000 ~ 1CH 25,000
OXEMDI 10,000,000& = 1CH 10,000
O=x=0l&=2MDI 30,000,000 = 1CH 30,000
OAH=xD| 6,000,000& = 1CH 6,000
O Ml &t D] 15,000,000€ = 1CH 15,000
(@)=g=ip] 5,000,000& = 1CH 5,000
O Dl 15,000,000& = 1CH 15,000
O1g AE A 25,000,000& * 1CH 25,000




SN SYIEME o
Y AR
R sMSIIIEMER (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OHAIT 8,000,000 = 1CH 8,000
sHE JI2 #2Y & 138,560 123,060 15,500
201 LBt 49H 69,300 45,300 24,000
01 A2 22| 45,300 45,300 0
OsAE JIZ2)|ls E2J 24 W dbE=
gl 100,000 * 105 » 401+ & 4,000
OsAE JIZ2)ls 82JF ¢4 e AR
= 500,000& = 2CH = 4o+ H 4,000
OSAE JZIE ML Y4 DE DM
25,000& = 508 * 44t H 5,000
Os4AE JIZ2)ls 820 24 WE 2AISE 32,300
OJlg((gez) 230,000& = 1A|2F = 58H 13,340
Oz (LeHz) 120,000 = 2A| 2t = 58&H 13,920
OJ1E( =2) 120,000 = 1Al2F = 12Y 1,440
OZx=1H( 2=) 100,000 = 3AI2F = 12 3,600
03 A2 HH| 24,000 0 24,000
OAMENMY JIBE MANESES EE
12,000,000 = 23| 24,000
206 M = dl 25,200 25,200 0
01 2 bl 25,200 25,200 0
OsAME H2I 2AH W=E MESH|
12,000 = 30 = 708 25,200
301 et A= 2,560 2,560 0
09 SHAIA HI 2 A& 2,560 2,560 0
OsAE Hd2I XY s BFALN 3
A= 8,000& * 40Y = 4HUAH = 23 2,560
307 QI2t0| & 41,500 0 41,500
02 QI2+HA AFA 41,500 0 41,500
OIIB4&E C MNMEESE OIAHE X
5,000,000& * 2002 10,000
(OF=E==X([| M HE 22
15,000,000& * 3IHA * 70% 31,500
EONE=E 1,605,983 0 1,605,983
EPNE=! 1,605,983 0 1,605,983
101 Q124 H| 234,351 0 234,351
04 JI2ZtHIZ2 2 NEES 234,351 0 234,351
ORI=s=SEHX 89 o2 102,969
OJI2ZHHZ22 X 18
72,990 * 6Y x 262 * 88 91,092
OY & 5| 200,000& = 6Y * 23| 2,400
OHLEE= 91,091,520& * 3.12% 2,843
OMIAESE = 2,842,055& x 7.38% 210




AN sEIIsdE AFHED
I AFME

& gX2d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=2d3 91,091,520& * 4.50% 4,100
OCnE:Ed 91,091,520& * 1.50% 1,367
OMTHE A 91,091,520& * 1.05% 957
OHAAZZX(SHELR)
72,990& = 109¥ = 1802 131,382
201 L2l 604,647 0 604,647
01 At 22l 99,300 0 99,300
OAAE RA22EH
400,000 * 2002 = 128 9,600
OEHXl &I ok & &l &k (1800kw) 1,500,000 1,500
OAES Ze|™EE J o At 6,000,000& 6,000
OsdIl FXHcEA
280,000& = 1A = 128 3,360
ogg e 29 440,000& * 53 2,200
O=RoAH 84 600,000& = 12& 7,200
OCCTV S22l 89 700,000& = 12& 8,400
OXg&d RA2e &4 500,000& = 12& 6,000
OLUNSH =2 2289
1,650,000& * 43| 6,600
ORIIstA E229H| 13,000
Oosgotl & el ME 2008 * 50,0008 10,000
O8=+% s A 3,000,000& 3,000
OOHHEEEH 2¥ A28 ¢
100,000& *» 203 2,000
OOHHEHEH XA=2?3s A& 2,600
oJl= 100,000& = 10¥ =« 23| 2,000
o= 30,0003 = 10¥ = 23l 600
OMA R ZA A2 WE A+ 4,800
OJl&(gera)  230,000& * 1AIZE = 108 2,300
Ox(LeHz) 120,000& = 1Al2F = 103 1,200
OJl2(dereg) 120,000& » 1AI2+ = 103l 1,200
O=1t(der2z) 10,000& = 1AI2H = 103 100
OWAT 22 AFHs s wWHAE
8,000& = 40& = 103l 3,200
OMMT XX AU DS FYAME
500,000& = 43| 2,000
FI=sXl 22 MEgns A=< 12,000
OJle(gees) 120,000& = 1Al2F = 302/ 3,600
O=1t(Ler2z) 100,000& = 2A12+ = 303l 6,000
oJl2(Ex) 40,000& = 2A12H = 302l 2,400
OHARMEZZH 3,000,000& = 14 3,000
O&F=xI| dg ===3 40,0008 = 8CH = 12& 3,840
OHX2g 1=l 2,000
Y= 90,000& = 89H 720




2N
el

el

X ZH
S =

SYIl=dg AR

g@X2g

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O& 3t 60,0008 * 8™ 480
odsts 100,000& = 89 800
02 3524l 385,647 385,647
ORIs=Ee8Hl HILS(sAE) 61,422
(OPIR=x-1 1,210& = 850Kw * 12,342
O&IINEZ 40.9€ * 100,000Kw * 49,080
RQIsSECHI HIRS(LLE) 188,273
oJl=z 8,320 * 950Kw * 94,848
O&IINEZ 93.8& * 83,000Kw * 93,425
SIsSECHN SHe2 18,000
OSHald MEZ 1,500,000& = 18,000
ORI=sSE N &oxx=E22 24,000
Oisol=E 22 2,000,000 = 24,000
ORIN=SE A HE2ASH| 27,000
(OF:ET 1,350& * 20,000L 27,000
ON#+=X(=2¢3) A
300,000& = 1A = 23] 600
OsJIH &H ESg=2EE= 400,000 * 10CH 4,000
(OFENEIRCIFSE= Kol 48,0003 * 20 & 96
OA & &l S XYl 45,256
O A2 KXY 1,259 * 4, 5,256
OSYXl &Hl XU (&I, E4l)
20,000, 20,000
O Xl &£dl SX8l(I1H) 20,000, 20,000
OZU&sS2 AR HA
8,500,000& * 1A 17,000
03 S AI2 H 119,700 119,700
OKRIN==SS X MNEA A 25,000, 25,000
O0elol E2=01& AIE&&Ex 29
94,700,000 =* 94,700
206 M = Hl 164,000 164,000
01 & bl 164,000 164,000
ogUH&EZ22 2= 1,000,000& = 50= 50,000
o2 2EME 1,000,000& *» 30 30,000
OFEHGRA 22 500,000& * 208 10,000
OARHZAXAH 2IAMW2(R2, =X, 2=
of) 1,000,000& * 50 50,000
ORI=s=HA 282 MEUE 29 M=
20,000 * 40¥ = 303 24,000
301 et A= 12,800 12,800
09 HAIAHI EA=S 12,800 12,800
OMAT & Ax2s s =44
8,000& * 40Y =* 3,200




D sYllsdE AFHE L

B L
Eedy )
SN HH-S(BN) - MBAY - B il HlnE2
ORII=sHX E MENE 244
8,000& = 40 = 303l 9,600
307 2Iztol ™ 115,320 115,320
05 RIZERI & 3 115,320 115,320
0Z¥ L A2 FAUEBY
9,610,000& = 12& 115,320
401 Al HI & 2 08I 378,708 378,708
01 A& HI 376,000 376,000
OZXZEH YA 3 AHL=63m) 50,000,000& 50,000
O&tHoteA B2HEAEX
96,000,000& * 1JH 2 96,000
OB HE S2ILK
130,000,000 * 1JH 2 130,000
OAfx=d M B AH(55,326m) 100,000,000 100,000
03 Al 20 HI 2,708 2,708
OHX=2Y ARl 376,000,000& * 0.72% 2,708
405 RHoHE S HI 96,157 96,157
01 AL EZFH S 96,157 96,157
ORJIsHX &&clE &l 11,250
Oul =2l 350,000& = 3CH 1,050
Os3J1(UE) 1,000,000 * 2CH 2,000
OsEJ(28) 600,000& =« 2CH 1,200
O=g82=ZE 6,000,000 =« 1CH 6,000
Oodra &I 500,000& = 2CH 1,000
ORISR 29 AIRZEHI 5,500
O XE A 5,500,000& = 1CH 5,500
ORJIIsttg g 29 72 11,850
Ox=LdEEX 250,000& = 2404 6,000
OALSITH 300,000 = 14 300
OZ X 50,000 * 484 2,400
OAMZ=# 300,000& = 54 1,500
O0lsa T 450,000 = 14 450
=& 200,000 = 44 800
oZdl 400,000& = 14 400
onANgdd 249 FH Y 67,557
OAMIoILHA | 27,715
-—W=EH0lIS 250,200& = 7204 18,015
-“WEE2 R 50,000& = 1044 5,200
=g 200,000& = 14 200
-At2 8 300,000& = 124 3,600
-2 400,000& = 14 400
-AHSITH 300,000& = 14 300




AN sEIIsdE AFHED
I AFME

el exey (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

ONIOILEA 1 10, 150
-nNESHOI2 250,000& = 200K 5,000
= E=JCPN; 50,000& =* 60H 3,000
= 200,000& = 1JH 200
-0lsSAET 450,000 * 104 450
-AMEE 300,000& = 404 1,200
-AFSICH 300,000& * 1H 300
OnsHPAS 7,798
-ANREHA (ML) 200,000& = 504 1,000
-3C Ols A& 200,000& * 504 1,000
-AtR2 29 XA LX) 300,000& = 504 1,500
-5t HHI 300,000 = 5J4 1,500
-3l gH 02 300,000& = 1JH 300
-3l oo Xt 150,000& * 54 750
-IHEl & 142,000& = 14 142
-IHEl & 159,000& = 44 636
-IEl & 194,000& = 54 970
OnsAFLE 6,298
-ANREHA (ML 200,000& * 54 1,000
-3¢ OlsS A& 200,000& = 504 1,000
-5t HHI 300,000 = 5J4 1,500
-3l EH 02 300,000& = 1JH 300
-3 2l 8o Xt 150,000& * 54 750
-IHEl & 142,000& = 14 142
-IHEI & 159,000& = 4J4 636
-IEl & 194,000& = 54 970
OnsAHAFRAT 15,596
-ANREHA (ML 200,000& = 1004 2,000
-3C OlsS A& 200,000& = 100K 2,000
-APLE9 XHA LX) 300,000 = 1074 3,000
5% IHHI 300,000& = 100K 3,000
-3lolgHl0ol2 300,000 = 2JH 600
-3l 2| | Xt 150,000& = 104 1,500
-IHEl & 142,000& = 24 284
-IHEl & 159,000& = 8JH 1,272
-ItEl & 194,000& = 1004 1,940

HOsHgARSI XA 4,285,529 4,285,529
= 666,875
== 141,000
Al 3,477,654

S AL DBt = 940,000 940,000
= 470,000
= 141,000




AN sEIIsdE AFHED
I AFME

& FHsgARHIEY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 329,000
401 A& HIZ 201 I 793,000 0 793,000
= 396,500
< 118,950
Al 277,550
01 A& HI 793,000 0 793,000
OFBAH&HA I B = ALY 793,000,000& 793,000
= 396,500
< 118,950
Al 277,550
405 Xt&HE SHI 147,000 0 147,000
= 73,500
< 22,050
Al 51,450
01 AL EFH S 147,000 0 147,000
OBRAHIBIRAFAISG (DB R 7F)
147,000, 000& 147,000
= 73,500
< 22,050
Al 51,450
ATHA0 X KSR J A 437,500 0 437,500
= 196,875
Al 240,625
403 Mt S E X201 & 437,500 0 437,500
= 196,875
Al 240,625
02 SO 2SO HSHAHE X 2 &AL H 437,500 0 437,500
O EIF=EZE NEEXAY 437,500,000& 437,500
= 196,875
Al 240,625
ASANEEXH 2,908,029 0 2,908,029
401 Al HI R 201 2,908,029 0 2,908,029
01 A& HI 2,908,029 0 2,908,029
OHU =LA EXNBAZ(IXE) 2,908,029
OEXE4Z 342, 7404 * 8,171m 2,800,529
OSJ++2 % 2BEIIR
1,500,000& * 5& X 7,500
OASAMEE IS (HE)
5,000& = 20,000m’ 100,000
HYRAZH (sLII=dE AAML D) 80,838 53,512 27,326
JlEZ3l 80,838 53,512 27,326
JlE2&l 80,838 53,512 27,326
201 LBt 26,628 17,752 8,876
01 At 22l 26,628 17,752 8,876




SN SYIEHE ARHLD
o WHPAAH (SYISHE HRHLD)

ch: JI24dd| (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OJl2gesdss AL (JI=HH])
500,000& ~ 219 10,500
o2l (J1=&Hl|)
8,000& * 21 = 8Y = 128 16,128
202 o4 H| 47,520 32,160 15,360
01 2L I 11,520 5,760 5,760
O=2LHAHHlI(21=FHI|)
20,0008 * 6Y * 8L x 128 11,520
02 NI 36,000 26,400 9,600
O HHH|I (AP )
200,000& = 10¥ * 12& 24,000
OEHHHI (SHASHA)
200,000& = 5™ = 12& 12,000
203 SR F & 6,690 3,600 3,090
02 AAADJMALAH 2 =X Y| 1,230 0 1,230
OJI=M(41H) 30,000€ * 41H 1,230
04 EASHEIRFEH| 5,460 3,600 1,860

OJIEH(41Y) 455,000& = 128 5,460




N = 0 &8 AF S 9 Al A
20108 & 20l & LB H sI|l=dH XNJAJNEN ~ sgII=dH SAsg2
A sgIIs=dH SAsg2
B CASRM
e TAsg=sd (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
sgI=4dH SEAsES 2,158,318 2,019,098 139,220
= 135,700
= 77,700
Al 1,944,918
CAN=sgsY 2,098,926 1,969,374 129,552
= 135,700
& 77,700
Al 1,885,526
CANsERH 2,098,926 1,969,374 129,552
= 135,700
< 77,700
Al 1,885,526
MNARsEO Jx=ds)IzsulsAE 35,000 23,800 11,200
= 17,500
Al 17,500
201 Bt A H| 27,560 17,400 10, 160
= 13,780
Al 13,780
01 AtSR 22l b 27,560 17,400 10, 160
ONFASY ASHAISDS DL
40,0008 * 80% 3,200
= 1,600
Al 1,600
OdAsYR IsHRI=zNE MY 20,200
oLz 11,800
-J|2 230,000 * 1AI2F = 103 = 2t A 4,600
= 2,300
Al 2,300
-=Jt 120,000& = 3AI2t = 108 214 & 7,200
= 3,600
Al 3,600
Ogt2zg 8,400
-2 120,000& = 1AI2t = 108 » 2 & 2,400
= 1,200
Al 1,200
-=Jf 100,000& = 3AI2F *» 10& * 2t & 6,000
= 3,000
Al 3,000
Od A=Yl AsHE) =20SE ISAX=
500,000& = 73] 3,500
= 1,750
Al 1,750
OA RSO I=SFJR) NS Y ABE 2
el 66,000& * 10 660
= 330
Al 330
206 M = dl 3,600 3,200 400
= 1,800




AN seIIsHE

M CA=sgs4d

H
>
0
©
b=

Sl SASASH EERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 1,800
01 =8l 3,600 3,200 400
Otnsge Is3Al|zsns 29 M=
45,0003 * 408 » 21t 3,600
= 1,800
Al 1,800
301 LEtE A= 3,840 3,200 640
= 1,920
Al 1,920
09 HALAHIE& S 3,840 3,200 640
ONFSYU0 H=HRIEWT SH SALA
8,000& = 40Y = 63| » 21t & 3,840
= 1,920
Al 1,920
s SAE(sEXE) 100,000 90,000 10,000
= 50,000
Al 50,000
402 RI2FX=201 M 100,000 70,000 30,000
= 50,000
Al 50,000
02 QI EAILEZ (01X E) 100,000 70,000 30,000
O=Z& XNRXH 423 AlY
100,000,000& * 1JH £ 100,000
= 50,000
Al 50,000
sZolHs 29 XA 36,000 40,000 A 4,000
= 18,000
Al 18,000
201 Yet2 | 30,600 33,840 13,240
2 15,300
Al 15,300
01 At 2t 2l 30,600 33,840 A 3,240
Osgots 24 30,600
Osgols 28 883ds nHgdns
500,000& = 83l 4,000
= 2,000
Al 2,000
Osgois 24 WM 2
100,000& * 80% 8,000
= 4,000
Al 4,000
Osgolis 28 2258 2¢
4,210,000 » 21+ H 8,420
= 4,210
Al 4,210
O=sgolisg 2 A= 4,720
-2eH =z 4,720




AN seIIsHE
M CA=sgs4d

H
>
0
©
b=

CEANsESEY

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
= 230,000& * 1Al2F = 83 1,840
= 920
Al 920
- =0 120,000€ = 3Al2+ = 83l 2,880
= 1,440
Al 1,440
Oge2zg 5,460
-Jl2 120,000 = 1Al2F = 133 1,560
= 780
Al 780
-=J} 100,000 = 3Al2F = 138 3,900
= 1,950
Al 1,950
206 2 I 3,000 3,600 A600
= 1,500
Al 1,500
01 X2 b 3,000 3,600 A 600
O=goliis 24 M=l
15,000& * 50 = 43| 3,000
= 1,500
Al 1,500
301 et A= 2,400 2,560 A 160
= 1,200
Al 1,200
09 HAIAHI BEAZ 2,400 2,560 A 160
OsUAE 2Y AR
8,000& * 150Y = 23| 2,400
= 1,200
Al 1,200
HsE2IdESH XS 54,000 92,490 A 38,490
= 16,200
Al 37,800
201 gEt24H | 4,000 12,490 A 8,490
= 1,200
Al 2,800
01 AP 22| d| 4,000 12,490 A 8,490
oS 243 DK
4,000,000 = 13| 4,000
= 1,200
Al 2,800
402 SI2v X0l & 50,000 80,000 A 30,000
= 15,000
Al 35,000
02 BIZtXIEANYEX(0OIETH) 50,000 80,000 A 30,000
OH=&g &43 X& 10,000,000& = 54 A& 50,000
= 15,000
Al 35,000




AN seIIsHE
M CA=sgs4d

H
>
0
©
b=

Sl SASASH CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SEXNTAIY =5 & 20,000 0 20,000

= 6,000
Al 14,000
402 SI2FXFE0| M 20,000 0 20,000
& 6,000
Al 14,000
02 BIZEXI2 AN EX(0IETHH) 20,000 0 20,000
OFE=sHodAHAIRG ASIIE X4
20,000,000& * 1JH A 20,000
= 6,000
Al 14,000
SEMEEHEG MIsES 30,000 56,000 AN 26,000
= 9,000
Al 21,000
201 Bt A H| 30,000 0 30,000
o= 9,000
Al 21,000
03 A2 EH| 30,000 0 30,000
OXNAXIEE 2= === AHF
30,000, 000& 30,000
= 9,000
Al 21,000
MAsgol 88 ASHNsAA 60,000 60,000 0
= 30,000
Al 30,000
301 dBtE A= 60,000 60,000 0
= 30,000
Al 30,000
12 JIEtE2 &= 60,000 60,000 0
O A=Y ) S8ASIE B4
1,200,000& = 5& x 1000 & 60,000
= 30,000
Al 30,000
TAsY XSAE 367,907 310,563 57,344
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